[ Efficiency vs vertpos |
= 0.05

OV OO RS R -

@ : : :

004 i P AR ERAR R

o : : :

@035 | P e

L2 : : :

5 0.03F - feqeif e P HERREEEEEERE
0.025[F - [t J- - S
0.028 -1 FH - ------------ ------------

0.015f 44T+ R s
o0t HH T o T S

0.005f -~~~ i ""*"**4;'1H'5'|;+";+ """ P

1.0

Ratio
—

||’—||

0.950 : :
1072 107 1 2

10 0
TP vertr (cn%)

—=— DQM_original_originalvector_1000evt

— —e— DQM_original_1000evt
Efficiend . pom fitted4_1000evt

~ 0.05 . . . . .
B0BE- e
” : : : : :
L S S S SR
> : : : : :
&) : : : : :
B.035 - A R R4 Iy .
008 oo
o : : : : :

3 o

0.015F =1+ ]
0.0% oo + ------ 3
L L S i Soetll

1.0

Ratio

e

093520 -10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.7
>
80.09
£
=0.08
£0.07
oy
E 0.06)
£0.05
()
0.04
0.03
0.02
0.0%

.U

Ratio

=

T TT
ra

095515 -10 5 0 5 10 15 20
Sim. PV z (cm)




	Contents
	Page 1


